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Fabrics shown are 40% of actual size.
Fab rl CS by J o) MO rton Fabrics used in the quilt pattern shown in red.
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Cocoa Express

Fat V5 each Fat Vs each

4891-N 4895-N
Ravenwood

433K FAT VYD 2474-K FAT %5 YD 2650-L -
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PSR & RS

4880-K FAT's YD 4884.K 23 YD

4245.1.C

4888-K FAT % YD 4890-K FAT % YD

4886-L FAT '3 YD

*includes binding **additional fabric for backing — 4% YDS

Indigo Berries

424510 ViYD  4246-N YaYD

*Yardage needed for backing (4% yards or two

KITTING CHART 1 bolt of each of the following Toast II fabrics
1 bolt of each of the following fabrics will yield 120 kits: will yield 60 Kits:
Ravenwood Cocoa Express Indigo Berries 4244-LN  4233-L
4233-K 4877-N  4889-N 4877-B  4889-B 4241-YN  4243-LR  4245-L.O
2474-K 4878-N  4891-N 4878-B 4891-B Fabric 10 kits
3997-K 4880-N  4895-N 4879-B  4892-B 4878-K )
3998-K 4881-N 4880-B  4895-B 4884-K 1
4879-K 4882-N 4881-B 3993.K 1
4880-K 4883-N 4882-B
4885-K 4885-N 4883-B Backing Fabric*
4886-L 4886-N 4885-B 4885-K 4
4888-K 4887-N 4887-B
4890-K 4888-N 4888-B 84" x WOF lengths per kit
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